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Moa. [o3HaYeHHS HadaMeHyBaHHs Kinbk UP;?[;G& [pumMimka
30A11300eMOHHI eneMeHmu:
(B105-5| T4YB26.00113997004-94 | Cmosk (B105-5 3 | N80
Cmanebi KoHCMpUKUT:
TMHZ2 116/6-12 Tpabepca zapayeouuHkobaHa TMHZZ| 2 | 5181
! KP2 1802H/5-2 KpoHwmedH KP2 2 | L1k
s X1 180.2H/5-28 Xomym X1 2 | 130
Al Y 18024/5-1 KpoHwmedH Y1 2 | 69
3m [CTY 47382007 3uzemManbanbHul dpim ¢10; L=3 nMm. | 1 | 186
BCboz0o HO onopy, Kz. 5187
/IHIUHO apMamypa:
1 TY Y 26.2-00214652-003:2012 | |3onamop L$-200 5 | 350
7 TY 35-2036-90 Kobnadok K& 5 | 003
B'aska cnipankHa AST 35 0,12 35 M
3 B'aska cnipanbHa AST 70 5 | 017 [50-70 mv’
SICAME B'aska cnipankHa AST 120 025 [95-120 MM’
/\/ 5 Bomuckay Bidzanyxubansiul PGALOZl 6 | 014 [35-120 MM
Mpub'si3aHud 6 Jomuckay nnawkobud PGAT01 7 | 006
7 116/3-30 [Nigbicka HamsxHa i30AI0040 9
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